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1 2 3 4 5 6 7 8 9
1 Uunbtthwtwltpun 39003 4324 11.1 7951 20.4 10616 27.2
2 | Uulbput 11925 2313 19.4 4254 35.7 5522 46.3
3 | Zwnpnip 8521 1811 213 3320 39.0 4237 49.7
4 | Uwpunulbtpun 13026 2312 17.7 4294 33.0 5601 43.0
5 | Uwpuniuh 17228 3066 17.8 5491 31.9 7305 42.4
6 | Twhnuljul 2100 340 16.2 646 30.8 887 42.2
7 | Tniph 3928 547 13.9 1187 30.2 1551 39.5
8 | Puwpwpuy 7096 1008 14.2 2202 31.0 2973 41.9
9 | Gplhwiu/1 832 50 6.0 98 11.8 147 17.7
CLIUULELL 103659 15771 15.2 29443 28.4 38839 37.5




